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Radians 5F 
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 e The larger the value of θ, the less accurate 

the approximation is. 
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 b When θ is small, 9θ is also small, so 
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Challenge 

 

1 a CD r AC      

    

 b In the right-anged triangle ABC: 

  sin
BC CD AC

AB AC AC


 


     

  tan
BC CD AC

AC AC AC


 


      

 

2 a For 1,x   

  
   

2

1
2 2

1 1
2 22 2 2

2 4

2

1

(1 )

11
1 ( ) ( ) ...

2 2

1 ...
2 8

1
2

x

x

x x

x x

x



 


     

   

 

  

 

 b 2cos 1 sin    

        

2

2

sin
1  since sin 1

2

1  since sin
2





 

  

  

  


